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Figure 1 ® Mean estimated central tendency (horizontal blue line) as well as estimated (error bars)
and actual (shaded area) 95% confidence intervals as a function of sample size. Each point is based
on 10,000 data points sampled from a normal distribution with a true mean of 100 and a true
standard deviation of 3. Panel A) Mean; Panel B) Median; Panel C) Harmonic mean; Panel D)
Geometric mean.
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Figure 2 ® Mean estimated dispersions (horizontal blue line) as well as estimated (error bars) and
actual (shaded area) 95% confidence intervals as a function of sample size. Details are the same as in
Figure 1. Panel A) Variance; Panel B) Standard deviation; Panel C) Median Absolute Deviation
(MAD); Panel D) Interquartile range (IQR).
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